
1 ARUN : GOTO OO49
43 END

S@ , AD_INIT,,Q=2S6*XPEEK &ZggE+XPEEK &ZggF+& lZ ,R=Q+&33 ,T=Q+&90?B
52 RETURN

1QO "K^CLS :tJAiT 0:60SUB "AD_iNiT'
l l 0 PRiNI "* A/D-Cal rbrat ion SVZ. l * "

1?O LINE ( O ,O ).( I55 ,6 ) ,X ,&FFFF,BF
I 30 ON ERROR GOTO I 4?O
| 40 0Ir,1 KB( r ,? )

150 DIr4 TT(3)
160 KB( I ,7 )=KB( I ,7 )

17@ EH=0,81=0:FOR i=0T0 3:TT( I )=0:NEXT I
I 8O 605UB " GRA' : GOSUB ,I4ARK '
I SO 60SUB "PNOI(EY2.. :6OSUB .PNOKEY3.. :6OSUB,.PCUI(EY, :6OSUB .PCRI.IEY'

?00 60SUB "CLRLiNE":PRINT " Select. Channel ! ";
710 IN$=iNllEY$ : IF ( iN$)='4" )ANO ( IN$2.="0" )60SUB "TTL"
2?6 IF 1N$=CHR$ &B60SUB "PCH'ELSE IF IN$=CHR$ &C605UB'NCH":ELSE IF IN$=CHR$ &

D60SUB .,CAL": IF INKEY$ ( I )i)CHR$ &I STHEN I90
:30 6OSUB .gLINK..:IF (iNHEY$ ( I)i)CHR$ &I8)AND (INKEY$ {.)CHR$ &I8)THEN 2IO
240 CURSOR 0,1:PRiNT "Prognam termrnated
2S0 CURSoR 0 ,?
260 END

276 "üAL"GOSUB'MARK" :605U8 "CLRLINE" :60SUB'PNOllEYZ" :60SUB'BATTTEST"
280 iF X{4.sTHEN 5S0
290 CURS0R 0,1 :PRiNT "Short A/0-input ! " :60SUB 'PCRliEY"
3OO 6OSUB .'CRKEY,. :6OSUB ,'PNOKEY3 

"

310 CURS0P. A,1:PRINT "Measurrng OFFSET ... "

3?@ S=O

325 X=CH+TT( O )+TT( I )+TT( 2 )+TT( 3 ): XCALL Q ,X
330 FOR I=ITO IO:XCALL R,X:S=S+X:NEXT I
340 üOSUB "CLRLINE'
350 iF AB5 S)?OTHEN 640
360 KB( I ,CH )=INT ( ( S+5 )/ l0 )

370 BEEP 1 :PRINT'OFFSEI =";KB( 1,CH):605U8 "PCRtiEY"
380 605 UB , 

CR K EY " : 6OSUB .' 
P NOK EY3 "

3S0 CURS0R 0, | :PRiNT "Appiy Fuil-Scale-Srsnal ! ":60SUB "PCRKEY'
400 60SUB 'CRKEY":GOSUB "PN0HEY3"
410 CURS0R 0,1 :PRINT "Measuning FULL-SCALE
4?@ S=O
425 X=CH+TT( O )+TT( I )+TT( ? )+TT( 3 ): XCALL Q,X
430 FOR I=lT0 20:XCALL *,y'5=S+X:NEXT I
440 GOSUB "CLRLiNE'
450 IF (ABS S)91800)0R (ABS S(?6000)THEN 680
460 K8(DH)=40@@/ (ABS S/20)
470 BEEP l:PRINT "FULL-SCALE =";USING "**.**$**";KB(CH):USING :60SUB 'PCRKEY"
484 60SUB 'CRKEY":605U8 "PNOKEY3"
490 6OSUB'CLRLlNE"
506 PRINT "f'learurrng Stabr l rty
510 S=0
520 FOR I= I T0 l 0: XCALL R ,X : S=S+X : NEXT i
530 6OSUB'CLRLINE'
540 IF ( KB( CH )*ABS S>460?@ )OR ( KB( CH )*ABS S<39380 )THEN ?20
550 BEEP l:IJAIT 100:PRINT "STABiLiTY =";USING'**.SS**tt":40@@/(KB(CH)*ABS Si I

O):USIN6 :LiAII O

560 6OSUB "CLRLINE'
570 BEEP l:LJAIT 100:PRINT "Cairbratron comBleted":tJAIT 0
580 RETURN

5s0 cuRSOR 0,1:BEEP 3:l.JAIT 100:PRINT "Battery lou ( ";usING "ft.s*";X;USiN6 i"v
) r"



6OO 6OSUB "CLRLINE'
610 CURSOR 0,1 :BEEP 3:lJAiT 100:PRINT "Calrbration impossible l":tJAIT 0
620 KBUFF$ =CHR$ &18+CHR$ &18
630 RETURN

640 CURS0R 0,1:BEEP 3:tiAIT 100:PRINT "Large OFFSET (";S/10;" ) !"
650 6OSUB 'CLRLINE'
560 CURS0R 0,1 :BEEP 5:|"JAIT 100:PRINT "Calibratron imtrossible !":tJAIT 0
6?0 RETURN

680 CURS0R 0,1:BEEP 3:tJAIT 100:PRINT "Out of Range ( ";ABS S/?Oi' ) l"
690 6O5UE'CLRLINE"
?00 CURS0R 0,1:BEEP 3:LJAIT l@O:PRINT "Calibnation irqpossibie t":LJAIT 0
7I O RETURN
?2CI CURS0R 0,1:BEEP 3:LIAIT l0@:PRiNT "srgnal unstable l "

7-1CI 6O5UB " CLRL INE ''

?40 CURS0R 0,1:BEEP 3:lrJAIT 100:PRINT "Calibration r.FrFossrble !" rtJAIT 0
?50 RETURN

760 "TTL'TT(ASC IN$-&41 )=ABS (TT(ASC iN$-&41 )-2"(ASC IN$-&41 )*&10)
770 60SUB "GRA_TTL" :X=@:FOR I=0T0 3:X=X+TT( i ):NEXT i:X=X+CH:XCALL Q,X
780 iF iNKEY$ <>""THEN 788
?90 RETURN
86@ "BATTTEST"X=0:CALL T,X :X=X/?55+6.048
8 I O RETURN

8?A "6RA'LiNE (0,16 )-( @,?3irLINE (A,23)-( 108,23 ):LINE ( t0B,?i )-( lA8,t6 )

830 FOR i=lT0 l0
940 LINE (9*1 ,24 )-ig*I,31 ):LINE (9*I,31 )-(9*(I+l ),31 ):LiNE (9*(I+l ),31 )-(9*(I+

I ),24 )

850 LiNE (3*I+? ,77)-(9ri+3,28),S,&FFFF,BF:1-1115 (9*I+6 ,27)-(grI+?,28),S,&FFFF,B

860 NEXT I
8?O RESTORE 'CH-DATA'
880 FOR I=0T0 7
A9O REAO 6PS
900 6cuRS0R I ?+i*9, I 5:SPRINT 6P$
9IO NEXT i
s20 60suB "6RA_TTL"
930 RETURN

94CI'6RA-TTL"RESTORE "TTL-DATA"
350 FOR I=0Tr3 3
360 READ GP$: IF TT( i ).:0READ 6P$
g7O GCURSOR 8I+I*5-(I}I ),I5:6PRINT GP$
980 IF IT{ I )=0READ 6F$
990 NE;{T i

1 OOA RETURN

1Al8 '|',1ARK'LiNE ( r?+riH*Q )2 \-( rn+CH*S,22 )

I @:O RETURN
1A3A " UNMARK"LiNF ( i2+liF{*q ?? i-t l6+CH*9,22),R
I A4O RETURN
IA5CI "BLINK..BL=BL+I:IF 8L=56OSUB .UNMARK..:ELSE IF BL=1OLET BL=O:GOSUB 'MARK"
I O6O RETURN
1.474 'NCH'605UB 'UN|IARK":BL=0:CH=( CH+l )MOD B:60SUB 'MARK,
I O8O RETURN
I 0S0 'PCH'60SUB 'UNMARK " : BL=0 : CH= ( CH+? )t'100 8 : 60SUB 'I'IARK '
I I OO RETURN

I I IO ,CLRLiNE''I,,AIT O:CURSOR O,I :PRINT ,; :CURSOR O.I
I I 3O RETURN

1130 "PCRi{EY'6CURS0R 121 ,24:6PRINT "7F41@A', i
I I 40 6PRINT "3EZA2A?4720@2E0408163E060?@?.3E82@2003E24242A1?O@3EAA0Äl A24";
I I 50 6PR INT " @O4l7F '' z

I 1 60 RETURN
I170 " CRKEY'IF INKEY$ {,i..,THEN 1 170



IIEO IF INKEY$ <>CHR$ &DTHEN IISO
I I 90 RETURN

1700'PNoKEYz'6CURS0R t21,16
I 2 | 0 6PR INT " QOÜAt$6006@@@000q@O@60000000000000000000a0000CI@o@000goooo@o@ooaoo0

00000" t

I ?20 RETURN

1230 "PNoKEY3"6CURS0R t?1,24
I 240 6PRINT " OO9O600QA0000CIOO00000QO00000000009aa000a00000ao0aoo09060aoa0000000

00000" t

I 250 RETURN

1260 "PCUKEY"GCURS0R l2l,l6:6PRiNT'7F41A0" t
l?70 6PRINT "OOQ0081C3E7F00000000417FOO$OOOOOO07F4tO@@O@OOA?F3EtC080000"r
1280 6PRINT "O@4t7F"e
I 290 RETURN

| 300'0H_DATA"0ATA'067C447C0A"
r3f0 DATA ',@QOS7COQOO"

l3?o 0ATA "AO74545C66"
1330 DATA "OA44547COO"
r340 DATA "00tCt07CO@"
1350 BATA "005C547400"
1360 0ATA "OO7CS474@0"
1370 0ATA "CI064740CA0"
I 380'TTL_oATA'DATA "EO7A5@?64A","00781478@0"
r3g0 DATA "007C5070@A",uOO7CS4280@"
1 404 0ATA "OA7Q50500@","003844446@"
r 410 DATA "0070507C0@",',007C443800"
t42O " ERR"IF (ERN =5)AND ( (ERL =140)0R (ERL =150) )RESUME NEXT
1430 IF (ERN =9)AND (ERL =160)THEN 1480
1440 CURSOR 0,1:BEEP 3:LJAIT 100:PRiNT "Unexpected Error l.
I45O 6OSUB "CLRLINE"
l460 CURS0R 0, | :BEEP 3:LJAIT 100:PRiNT "ERR0R";ERN ; " iN";ERL :LJAIT 0
l 470 RESU4E ?40
1480 0IM KK(?):FOR I=0T0 ?:KK( I )=KB(i ):NEXT I:ERASE KB( )

1490 DIfl KB( I ,7):FOR I=0T0 ?:KB( I )=KK( I ):NEXT I:ERASE KH( ):RESUME NEXT


